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General Instructions :

1

Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages.and total number of questions contained in the
Question Paper are the same as those printed on the top.of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification .of the candidate.

4 Write your Question Paper C@ 59/0SS/2, Set— on the Answer-Book.

5 (a) The Question Paper ig\insEnglish/Hindi medium only. However, if you wish, you can answer in any

one of the languagp§2listed below :
English, Hindi a5 Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Ma o1, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are requited to.indicate_the language you have chosen to answer in the box provided in the
Answer- .

(b)  If you chowose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes. in-understanding the question will be yours only.
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BIOLOGY (Theory)

EICICE S BRI EAR))
(314)
Time : 3 Hours] [Maximum Marks : 80
T ¢ 3 U] [quiis : 80
Note : (i) This Question Paper consists of 30 questions.
(ii)) All questions are compulsory.
(iii) Marks for each question have been indicated against it.
(iv) Each question from Q. Nos. 1 to 8 has four alternatives — (A), (B),
(C) and (D), out of which one is the most appropriate. Choose the correct
answer among the four alternatives and write it in your answer-book
against the number of the question. No separate time is allotted for
attempting multiple choice questions.
a1 ¢ () 3TW Y- H 30 9T ¥ |
(i) |f weT sfEd ¥
(iii) Y% W9 & ofh STk IM- 9N TAE |
(iv) 9T i 1 ¥ 8 d® & Ydd U9 N A famed — (A), (B), (C) 3R (D)
f @ ¥, T ue gaifus Sfaa @ | 9 fawedl § ¥ 981 SaX gy an
aﬁw—gﬁ@ﬁuwmﬁ%aﬁ%ﬁaﬁwgﬁﬁuﬁ%ﬁ%ﬁm
q L SRAT |
S
N
1 Which of t@llowing infections cause life-time immunity ? 1
(A) Commoii cold (B) Small pox
(C) Influenza (D) Pneumococcal pneumonia
frefafed o8& & @ W & GHAT S WX B GRE U8 Hal o 7
(A) @ (B) <
©) W (D) gAtfra
2 Which of the following disorders is sex linked ? 1
(A) Haemophilia (B) Thalassemia
(C) Sickle cell anaemia (D) Mongolism
frfafad & @M @1 f[JeR W1 geae dara 5 ?
(A) 2w (B) Sciafmn
(C) fabet ww AT (D) wiierar
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3 Which of the following is an endangered species ? 1

(A) Wild buffalo (B) Chital
(C) Sambar (D) Asiatic elephant
frfafad & & @9 | "o old & 7
(A) e dar (B) dad
(C) @Y (D) ulmrg el
4  Which of the following organs stores sperms in man ? 1
(A) Seminal vesicles (B) Urethra
(C) Vas deferens (D) Epididymis
o ¥ PR N YRR o ¥ g W ted 7
(A)  SIBIST™ (B) W
(©) g (D) HfergereT
5  Which of the following is an example of locomotion ? 1

(A) Stretching an arm to pick a fruit
(B) A bird jumps to a tree
(C) Frog shoots is tongue to catch an insect
(D) Cow wags its tail to drive away flies
frfafed Ieel & ¥ @M 91 Semv Hadd o 7
(A) &I FEHBL B IS
(B) wq@wm@ﬁswaw
(C) ¥gH & WY r%‘iﬁ BT Bie THST
(D) T @ T S AfeRgAT ST

N

6  Which of the following statements is true ? 1

(A) The lubb sound of the heart is due to closure of semilunar valve.
(B) Pulmonary vein carries oxygenated blood.

(C) Heart beat originates at A.V. node.

(D) Arteries have semilunar valves.

frfafed & @ &9 @1 d9 I §°

(A) T&T ¥ W9 B & YU HURl b 95 B4 & BRI el 8|
B) THd B0 H SRS BUT Bl 1

(C) &wa-we A.V. node ¥ ®ar |

(D) umiEl ¥ rddsR HUE B B
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7  The value of vital capacity of lungs is : 1

(A) 500 ml (B) 5500-6000 ml
(C) 3400-4800 ml (D) 2000-3000 ml
ST 3Edd & A F 1§ 7
(A) 500 ml (B) 5500-6000 ml
(C) 3400-4800 ml (D) 2000-3000 ml
8  Which of the following N, fixing microbe is free living ? 1
(A) Cyanobacteria (B) Rhizobium
(C) Azospirillum (D) Azotobactor
frfafad & & ®F 91 TEgee X & amar S qasiEl § 7
(A) GRS (B) EHAISad
(C) usirEmEie™ (D) Usfredeex
9  Match the following : 2
Column-A Column-B
(1) Todine (A) Delayed blood clotting
(i1)) Iron (B) Night blindness
(iii)) Vitamin K (C©) RBC
(iv) Vitamin A (D) Goitre
frefafaa @1 fram @ifeg -
FH-A HeH-B
(i) omafes (A). oI ®BT Uahl 3T T g9
(i) e QQQ (B) el
(i) frerfm K S\\ (C) o o Hivmepnd
(v) fafm A o (D) TS
Q\QQ}
N
10 Give full fo%l of the following : 2

AIDS and ECG
frrefafaa o faga e fateg -
U, oME. S.ug. dur 5. 4l W

11  Express the process of photosynthesis by an equation. 2
TSl HIWI &l UlhAT bl TGO B ATHegad HY |

12 Name the two types of photophosphorylations during photosynthesis. 2
In which of these photolysis of water takes place ?

THIIT AW & UihdT H &M A & YhIK b HIERITERI & ™ 9dedl
T 9 o @ fagsd e wrEniieer § g 87
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13 Name the technique of growing plants without soil. Why vigorous 2
bubbling of air is essential for this technique ?

gaT Ied WGl Bl T B qHele Bl AF IARYI 3 dhbAe H o9 A 9
g % gAgH i YAed B SMATIH & 7

14 Name the reducing agents needed to reduce molecular N, to ammonia 2
during biological nitrogen fixation. Why ammonia thus produced is not
released but is converted to amino acids ?

S I AUATEE GHAT AT SUSH % A §aiEy S SGd g Rl
a0 N, &l st § 9aad 9o 8 ¢ | 39 Wishal ® STl qad el
Tl UXg OTHl ond ¥ §ad Wl ¥, BIROT §aiyl

15  Which are the main sites through which transpiration occurs.? What is the 2
effect of light on the rate of transpiration ?

TS T Uikl fbT U@ ! 9T Bl & 7 39 foRAT @1 ST 9T TSt W RN
ERICIECIIE

16 Give any four uses of algae. 2
ST & BlE A ITAM TR
K\Q
D
17 How does haen%&)in helpin“the transportation of O, in the blood ? 2
A TS O, 3 (afaeT ¥ By wEw b7

18 What type of ‘cell. organelles and cell wall are found in Bacteria ? 2

Strempett # fpd UH b HIRTRT oFE G difyee R B § 7

19 What is Diabetes mellitus ? What are its symptoms ? 2
SRS Afded /T 87 38k & D § &7

20 Explain Binocular vision. 2
feral gfe awsmsul
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21 Give one term for the following relations : 4
(a) One organism receives benefit at the cost of the other.
(b) An interaction between different individuals of the same species.

(c) An interaction between two populations in which both species are
harmed to some extent.

(d) Association between insect pollinating flowers and pollinating insects.
frefafad TR & fau Sfad s=Eel 9dRy

(@) 3@ TH g B N BN T R qEX B @9 g ¥

(@) us & o & faf= el & S BF arer eI foRa |

(M & wEEl & 9 @ oA fear Red $5 % 9@ d9 @ eI B %
(@) UET e Td R @i 6 A "edrd |

22 Differentiate between : 4
(A) DNA and RNA
(B) Fraternal twins and Identical twins
I WL R
(@) 2. TA. T qUT M. TA. U,
(@) fgafss SEal dqur o= S[eal

23  Write short notes on : 4
(A) Osteoporosis
(B) Meristematic tissueQQ
e fomforat ey 3O
@) ofta g S
(@) fawssifan!
o
24 Assign the following. plants to their respective division : 4
(A) Vascular ‘tissue present, Seeds not enclosed in ovary
(B) Vascular-tissue absent, Plant body haploid, Sex organs jacketed
(C) Vascular-tissue present, Plant body diploid, Prothallus present

(D) Vascular tissue present, Seeds enclosed in ovary, Seeds have one
cotyledon.

= dief & 396 Sfad ywen A aiiea #ife

(@) "I Has dNE, 99 o™ ¥ a9 T

(@) wael Sas el ¢, e URU THIHEE, S Sf Sfaid
(M) waE Sas UNE, eI URY WRIEES, WdW a9 §
(@) HoaEdl Haw ANE, S99 Bd 9 S5, S5 H $had Uh eI
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25 Draw the following and label its parts :

26

27

28

(A) Stomatal apparatus of Dicots
(B) Parenchyma
=1 @1 mifea a3 s\ Ry

()

(@)

Name the hormones that :

e =it &1 {g Sum
FESEY

(A) Induces parthenocarpy

(B) Induces dormancy in seeds

(C) Is gaseous in nature

(D) Suppresses the growth of lateral buds

Ml % AW qEy o

(a)

(b)

(@)

T Had @ AT &Xar ¥ |
gg dIS SO bl & |
I% T % |

uigd APl DI Jhe bl & |

What is the relation between increasing population, agricultural 6
development and environmental degradation ?
What is vegetative propagation ? What are its advantages and
disadvantages ?
ol ORI, B qaT_mEiaRiE e &1 @ aey § 7
CARCAREER] aa&@ B C b R B o |
\Q‘Z}
Explain following. terms : 6
(i) Deminant/ trait
(i1) Test cross
(i1)) Dihybrid-cross
Explain how a haemophilic father passes on this defect to 50% of
his grandsons through his daughters.
frfafaa sl & gAsEy
(i) werd
(i) e wre
(iii) fsH®T wid
AT 6 fohE U U SHIMBie faar oTq+l g3l & Aiedd ¥ I8 aN
3 50% U ugamar § 7
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29 (a) What do you understand by conservation of natural resources ? 6
Why do we need to conserve natural resources ? Give any 4 reasons.
(b) What is the chemical nature of fats ? State any 4 functions of fats.
(@) Uiplas TETEAT b WAV G T RN TEM & 7 3h G B SAETRA
Hf 57 By IR HROT AT
(@) @Rl & THEts IHd #1 g7 I8 & B 9 HE Idk|

30 (a) Name two types of phagocytic cells. Where are these found ? 6
Give two important features of these cells.

(b) What are transgenic organisms ? Which bacterium is«used to introduce

required genes in plants ? Name a transgenic plant and an animal.
(@) B Wb I HETHIY] BB b € &7 I Hal U3 Sl & ¢ 96 a T&A
T FAE
(@) Ul S R/ § 7 uSl uRy Wi & & g d | st fg |
qifd S &b Giaod % T wErmsd €7 U Rl 9Ied q9r Sig @
SEERW T \Q&Q

OO
Lo
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